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FOKREARIEST BF=0IZ, COISLEEHB/OTHELISELE
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feDiEmIZ3EBLTREMIZHIBIL TS,
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BAR BEFIFEH (MPa)
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BE%—

RFARER 1S5H KE-EHICETH/54A—4

(BE*HE)

FEHAIRICOVTIE, ELZDOROERERDTE

ERIT. BEQHEARBEFHZEATLDLDOLHY. ELAIESN TOEVTEEOHHEHEIRLEFEL TN,
TIUrDRRERET B-DIZ. COLSBEABOTENSEZELISZ T, EHOHBABRNS/ONSEHREEALTELOERITHEBLTREMICHIELTNS,

] T = _ _
RFFRE  |RFFERE |\ 2 =2y b= mo4s DwEH |s/cEsh  |CAMS  [CAMS — [CAMS — CAMS
H (BRFHEA) | (BRFHEN(B) E4 (MPa) |[EH (MPa) |(MPa abs) |(MPa abs) D/W(A) [D/W(B) |S/C(A) |S/C(B) |{&&
(mm) (mm) (Sv/h) _[(Sv/h) |(Sv/h) |[(Sv/h)
12/16 5:00 -1830 0.001 = 0.1094 0.084 1.00E-02 1.45E+01 6.60E-01 6.80E-01
12/16 11:00 -1860 0.001 — 0.1095 0.085 1.00E-02 1.25E+01 6.60E-01 6.80E-01
12/16 17:00 -1870 0.001 = 0.1094 0.084 1.00E-02 9.88E+00 6.60E-01 6.80E-01
12/16 23:00 -1870 0.000 — 0.1094 0.084 1.00E-02 9.32E+00 6.60E-01 6.80E-01
12/17 5:00 -1870 0.000 = 0.1097 0.084 1.00E-02 9.20E+00 6.60E-01 6.80E-01
12/17 11:00 -1860 0.000 — 0.1098 0.084 1.00E-02 9.13E+00 6.60E-01 6.80E-01
12/17 17:00 -1860 0.000 = 0.1099 0.084 1.00E-02 9.08E+00 6.60E-01 6.80E-01
12/17 23:00 -1860 0.000 — 0.1102 0.084 1.00E-02 9.01E+00 6.60E-01 6.80E-01
12/18 5:00 -1860 0.000 = 0.1101 0.084 1.00E-02 9.08E+00 6.60E-01 6.80E-01
12/18 11:00 -1850 0.000 — 0.1101 0.084 1.00E-02 9.08E+00 6.60E-01 6.80E-01
12/18 17:00 -1850 0.000 = 0.1099 0.084 1.00E-02 9.14E+00 6.60E-01 6.80E-01
12/18 23:00 -1860 -0.001 — 0.1101 0.084 1.00E-02 1.48E+01 6.60E-01 6.80E-01
12/19 5:00 -1860 —-0.001 = 0.1099 0.084 1.00E-02 1.13E+01 6.60E-01 6.80E-01
12/19 11:00 -1850 -0.001 — 0.1100 0.084 1.00E-02 1.27E+01 6.60E-01 6.80E-01
12/19 17:00 -1840 —-0.001 = 0.1098 0.083 1.00E-02 1.05E+01 6.60E-01 6.80E-01
12/19 23:00 -1860 -0.001 — 0.1100 0.084 1.00E-02 9.50E+00 6.60E-01 6.80E-01
12/20 5:00 -1860 —-0.001 = 0.1101 0.083 1.00E-02 9.13E+00 6.60E-01 6.80E-01
12/20 11:00 -1850 -0.001 — 0.1101 0.083 1.00E-02 8.89E+00 6.60E-01 6.80E-01
12/20 17:00 -1620 -0.003 = 0.1073 0.081 1.00E-02 9.99E+00 6.60E-01 6.80E-01
12/20 23:00 -1640 -0.003 — 0.1072 0.081 1.00E-02 1.03E+01 6.60E-01 6.80E-01
12/21 5:00 -1650 -0.003 = 0.1073 0.081 1.00E-02 9.08E+00 6.60E-01 6.80E-01
12/21 11:00 -1650 -0.003 — 0.1072 0.081 1.00E-02 1.16E+01 6.60E-01 6.80E-01
12/21 17:00 -1620 -0.003 = 0.1071 0.081 1.00E-02 8.31E+00 6.60E-01 6.80E-01
12/21 23:00 -1620 -0.003 — 0.1068 0.081 1.00E-02 1.06E+01 6.60E-01 6.80E-01
12/22 5:00 -1620 -0.003 = 0.1066 0.081 1.00E-02 1.22E+01 6.60E-01 6.80E-01
12/22 11:00 -1590 -0.004 — 0.1062 0.081 1.00E-02 1.20E+01 6.60E-01 6.80E-01
DS HEARR HHEAR
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